.ﬁ,

1. RedfiFwargemmaRar? -
(A) gegatm

(©) e faerwtt
Who was the first Sultan of Delhi ?

(A) Iltutmish

(B), FIT W

(D) SIS T

(B). Qutb-ud-din Aibak

(C) Alauddin Khilji . (D) Balban ik
2. AR B @ R it o :

(A) i Shepfera (B) & W

(C) wFRAS= > (D) T fefemm

Who discovered Nitrogen ?
(A) Benjamin Franklin
(C) Karl Benz
3.  HNTER ¥R ANTAR 2
(A) =i et 3w & frta ok s | srferm P 3
®) = foreft 3w s o susk fata @ aﬁmsﬁ‘rﬁﬁ_
(©) S forelt 3w # S =R 7 B ®
(D) & Forelt 22 ot SR wgfera ST @
What is meant by a ‘trade deficit’ ? '
(A) When a country’s exports exceed its imports
(B) When a country’s imports exceed its exports
(C) When a country has no trade at all >
(D) When a country’s trade is balanced O
4 SR (37 T Hew) ¥ Flt F aniais TG T @, e Frvdiarr oy 0 & dom firgt F e
3T A § o ST FRT ST |
@) o ®B) g W) st (©) T e
Name the traditional form of wrestling in Utta[f}radesh (including other States), which wrestlers practice
in a specially prepared mud pit called an Akha
(A) Mallakhamb (B) Kabaddi (C) Silambam (D) Kushti or Pehalwani
5. forw Hen ¥ @ o yo g : FR I v, ot Aif it St wev 30 & e o e e
faié s &t 2
(A) FTEd. (UNEP) (B) THTHI (FAO) (C) I (UNESCO) (D) fausi=®
Which institution released the report titled ‘Sand and Dust Storms : A Guide to Mitigation, Adaptatior
Policy and Risk Management Measures in Agria?lmre’ ? 5
(B) FAO

(B) Daniel Rutherford
(D) Richard Gatling :

L12x A Oz

(A) UNEP
6. PANFIEARIZ?
(A AR s Hat (fsft wrar d@em)

(C) UNESCO (D) World Bank

(B) wﬁzm::qat(wﬁamu@n _

(C) . TEAS FHISE AN (AT ST AT)
What is the full form of PAN ?
- (A) .Private Account Number

(D) TR SFHTSZ FoR (AT Tt HEwm)
II' R A |
(B) Permanent Account Number

A@LAO

(C) Personal Account Name (D) PEI‘SOﬂal‘ACéo\unt Nilmbelf

7. W% GSTdteer it seemmell (@) frgen @) V7 T
The number of structures in India’s GST model is : LR
A TR ) @ s D)3
RN " e S T T R > et o oo
Fpbn..:
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8.  WTO ¥ adur nefies R 8 2

(A) TR MiesT ' (B) ISH sTrhi=il-gaar.
(C) w=<rerER 1 (D) tRwARm

Who is the current Director-General of WTO ?(")

(A) Claudia Goldin _ <] (B) Ngozi Okonjo-Iweala
(C) Hemando de Soto (D) Eric Bettinger

o PrERRaiedraat et o

Which of the following is the GST common p y

A ww.gst.gov.i’n (B) www.gstcom @) (C) www.gstin (D) www.gov.in
10. T qda I S ST FRTTATE 2 <] _ A

(A) iy B) ferrera o © TR (D) peitwEd

‘Which mountain is called the ‘Blue Mountain’ ¥* :

(A) Nilgiri (B) The Himalayas © Mount Everest (D) Mount Fuji
11. mm‘am’%ﬁmﬁmwm& g _

(A) IR TS B) fEegm W (0 erfEm:r (D) Reslfaw

The celebrated novel ‘The Godfather’ was authc)\éd by whom ? :

(A) Mario Puzo (B) Victor Hugo q (C) John Milton - (D) Harold Robbins
12 wmmmgwmmm%g} '

(A) TTHSAT WA ] (B) Mﬁ@a“rs@%ﬁ

©) aﬁamaﬁﬁ(ﬁm @ O RIS § e & I A

Earth’s Albedo is largely affected by the : Q ;

(A) Atmospheric layer (B) Nature of the Earth’s surface

(C) Cloudiness @) (D) Dust particles in the atmosphere
13. Waﬁrmmm@sﬁnﬁ@m \

(A) Usnfers Shafaa e ® IR Hed

(C) Siva dieaT i wifew foreh (D) =ed e

The structure of DNA was discovered by whOnQ

(A) Rosalind Franklin _ '(B) Gregor Mendel
(C) James Watson and Francis Crick {} (D) Charles Darwin
14. FRAdFIwwd Rpdeorsm ke [] I
S (A) Hza S e SR @ (B) W e &,
(C) i AT e A (D) R we ¥
Which bank supported the demonetization in In% ?
(A) Central Bank of India Yar ) (B) Reserve Bank of India
(C) Bank of India . (D) State Bank of India . :
15. mﬁﬁﬁmmmﬁmﬁaaﬁmﬂww%mwﬁ@ﬁmﬁmﬁa% ?
2 (A Hmargf%m b (B) ofFT :
(C) wTEI ; (D) ffRiT
Which of the follomng cybercnmes mvolves deceiving, mdmduals into revealmg senSLtlve mformatmn ?
‘(A) Cyberbullying .(B) Hackmg &
(C) Malware - (D) Phishing
SR e T g T T )| SRR AR U S R o
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16. W # et QR NTH T a1t 98t IRt q

(A) Hidt oA (B) wWet @
(©) @R £ (D) iz iR
The first Indian to receive the Nobel Prize in thee)lre wiag ‘it
(A) C.V.Raman (B) Mother Teresa
(C) Sarojini Naidu q (D) Rabindranath Tagore
17. o o - R 2 o
(A Afgs (B) i []©) swem (D)
Which is the capital of Germany ? ' : _
(A) Madrid (B) Berlin <1 (C) Abuja (D) Canberra
18. ZISH T &3 AleRiaey HIfEd < qtgrennmml
(A) ™ (B) TAEE (C) whre (D) *ttm
Trojan virus was released on numerous SolarWinds Orion Platforms.
(A) Spy (B) SUNBURST (©) Rootkit (D) Ransom
19. qmﬁ%mmwﬁﬁz@%maﬂww%i} -
(A) TSR (B) Ufsmm O(C) i ferar (D) TiiEamT
What is the name of Earth’s first super continent
(A) Vaalbara (B) Pangea (C) Columbia _ (D) Gondwana -
20. FH-HT G AT & Fod T fpraeier 3wt ST ST A AT 2
- (A) mﬁ@agmaﬁq B) Rgds
(C) TWHUY - @(D) forg smaw d@re
Which organization provides loans and grants to th€|world’s poorest developing countries ?
(A) International Monetary Fund (B) World Bank
(C) United Nations : (D) World Trade Organization
21. S&THAHS AR F iR sraamon @ sutar e g .
(A) wHEdT (B) 3TTffeh worTedt (C) IFr@Hmar (D) =gt
In Vedas, human right is signified with the conceptof :
(A) Equality : (B) Economic system O (O) Inequality (D) Untouchability
22. I fra fa o for e e & v & wamn 2
(A) 150 (B) 14 - (C) 160w (D) 1310a
Which day is celebrated as “World Art Day’ every-year ? ; . ;
A) 151 April B) 14t April (C) 16% April (D) 13 April

23. WH&WWW%ZE@TWQW%@ |
(A) TUTST F TS H Ao ' (B) e T S§77 S <Y SO

(C) Hisiors I Fgfth < o & (D) T SHTE 1 ST

Article 352 of the Indian Constitution primarily d@s with : !

(A) Proclamation of the formation of a new state (B) Proclamation of dissolution of the Lok Sabha

(C) Proclamation of appointment of CJI - (D) Proclamation of national emergency

24. TR 3R vEd/TEt (SC/ST) HerEl # Safiar Ft agran I ¥ g Wia TR g SE-ar FEET T8
ERIRICIE
(A) Te-3rgifear (B) faarifem (C) wisfem D) e e

‘Which programme was launched by the Indian Government to promote entrepreneurship among women

and SC/ST communities ?
(A) Stand-UpIndia  (B) Skill India (C) Start India (D) Dlgltal India

- -
= e E e E e EEEE e E e — e S EEE - E . —————— = =SS
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25.

26.

27.

28.

29.

30.

31.

- (A) HR it

fersTarT TS i T 1336 1 R g T off 2

(A) FOIRTE . (B) &RET AT TRt

(C) fermT g . (D) F&TE wum

The Vijayanagara Empire was founded in 1336 by :

(A) Krishnadevaraya (B) Harihara and Bukka

(C) Narasimha Saluva (D) Devaraya I

T SrEX A YTeX € ST st B

(A) 20 fafemm B) 10 fafas (© 15 fafemm (D) 5 fuferm
Mega cities are the cities having a popﬁz\ltlon more than ;

(A) 20 million (B) 10 mllh@ (C) 15 million (D) 5 million

Tore et ST o 3evT STt aﬁ? ﬂﬁrﬁaﬂ ﬁoaﬁﬁm%WWf 3 ooonﬁnﬁﬁmm
FEATR 2 :
(A) o s o et T L] (B) e ot e e e ST

(C©) USH Ge Jorredt ©) (D) W W3t 9 deT A

Which Indian scheme aims to provide ensmn to unorganized workers, assurmg a mlmmum pensmn of
¥ 3,000 per month after the age of 60

(A) Pradhan Mantri Shram Yogi M an (B) Pradhan Mantri Jeevan Jyoti Bima Yojana
(C) National Pension System (D) Pradhan Mantri Vaya Vandana Yojana

g SHIfohed AT AT e foresh grr foret i & 2

(A) 3. TRfer (B) eresTwe ©) ®ww qda (D) .3, b
“The Chronicles of Nania” series is wfilten by whom ? 7
(A) J.K.Rowling (B) Roald 1 (C) C.S.Lewis (D) J.R.R. Tolkien

T AT ST 3 WIS Y ST I A O AT St Y e S a1 e d [ Sy I
T T HEAT & SOER g arelt e 3:

(A) SRUTCH SHEEA (& & (B) Y SHEE If&

(C) tsft & SHEET afE (D) *HTeE S A |
The number of people entering a pop@mn through “birth” or immigration’ bemg equal to the number of
people leaving it via ‘emigration’ or ‘death’ is called :

(A) Negative population growth -q (B) Zero population growth

(C) Rapid population growth : (D) Positive population growth

WRART qaiehT 3R ST @8aFT (ITEC) Felshi 7 Sega a1 8 2 B

(a) TorfiT s =1 faffam s (B) WiEH(ceR M-I il SQIET AT

(C) Vg EGHT (D) TewIeh HETIAT T NIRTE0T F&H HL

What is the purpose of the Indian Techﬂl’cal and Economic Cooperation (ITEC) programme ? N
(A) Regulating financial markets ®) ’ (B) Promoting cultural exchanges

(C) Enhancing military cooperation <] (D) Providing technical assistance and training

-mmmmw%w%mmmwﬁ%mﬁmﬁﬁmﬁ
SIS U T TV T WA R 2 ki
B) fe Gugitar '

® : s
(©) FRaTHaTH ' (D) wifgaa WRhie ,
Which international agreement focuseﬁn the protection. of the ozone layer by phasmg out the productlon
of numerous substances responsible f@zonc depletion ? :

(A) Kyoto Protocol (B) Paris Agreement oER
(C) Geneva Convention | (D) Montreal Protocol M R
B A R U T S e S E
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wﬁwm%mmwmsﬁa%

@ (B) WA vt
(C) WEEPFRA TR (D) T FHAT
The primary source of energy for the Earth’s chmag?e system is :
(A) The Sun (B) Geothermal energy
(C) Ocean currents . ()(D) Nuclear energy
33, wad frw Rt siadsfia Freedor o stmm swea Raw Fead mmrsme?
(A) su . (B) 4WH &4 (C) 7u 4 (D) 61
Which day is observed as the ‘International Disgljnament and Non-Proliferation Awareness Day’ every
year ? ; &
) MMach - @) 48Mach- @) 7" March ©) 61 March
34. T @, P wrl gaTE STge wY At % 2023 ﬁ'&aaﬁmﬁwﬁsﬁ?
(A) R siwisr gt erger ®

(B) HuiteT Sl gas e ' S
(C) T T T St T 3T -
(D) STt Rrarelt weTrst iy gar srge S,

Recently, which Indian airport received recogniticﬁ at UNESCO’s 2023 Prix Versailles ?

(A) Indira Gandhi International Airport . e

(B) Kempegowda International Airport

(C) Sardar Vallabhbhai Patel International Airport

(D) Chhatrapati Shivaji Maharaj International

U35 I R S T (A T S O §

(A) Uz [ (B) LI Fo I
B (C) Wil I, Srrssht D) fathd e
D Who is the author of the book “Human Rights amﬁ)lhuman Wrongs” ?
| (A) "Upendra Baxi (B) V.R.Krishna Iyer
_ (C) Solil. Sorabjee : (D) Chiranjivi Nirmal
; fraforfea o & FH- sFem A Teur R 2. o 5 '
(A) gad - (B) @& (C) TSmEt (D) REwme
Which of the following is the capital of Bangladegl:}" : b
(A) Khulna (B) Dhaka Q(C) Rajshahi (D) Sylhet
mﬁﬁmmﬁﬁﬂﬁmaﬁwm@m%? . e 9
Eé)) Sis - ' %g e
Who has the authority to declare a financial emergency in India ?
"~ (A) The President |(B) The Prime Minister
(C) The Parliament ' @j (D) The Finance Minister ' .
38. BETH Uied Wl Aeayt dwe Afewm wERT @ A ww, _ F Wew ¥ fnliw st ol
- %uﬁm%a&ﬁwwm% |
(A) LSIE (B) ITIUIEH (C) %fm‘-‘lga (D) OWERITE
Facebook customers can find out about spec;al offers and on-demand promouons via. , one of the
most important social media marketing tools.
(A) Post Planner (B) Agorapulse (C) Chattypeople (D) SocmlOomph
2573 e T Page Gorad - .. gl o . o ECoend
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i

B

LN -
» - - 4

39. zlﬁf‘BEAR I 25-22-26.9° asmira%‘r%a%mw% ?ﬁ‘TIGER’a%‘r%éah%aﬁmm?
If ‘BEAR’ is coded as “25-22-26- 9’, how will ‘TIGER’ be coded ?
(A) 7-9-11-4-17. (B) 9-10-13-6-17 (C) 8-9-12-5-17 (D) 7-18-20-22-9
40. siEe A el HE y ik ) | |
Find the next number in the series.
16,10,20, 14,24,

(A) 18 ®) 28 - ©) 12 (D) 16
41. wEE AR 1

oWt A iR 2 - O _

(&) = (B) = (O i ®)

Complete the analogy : \]

Thermometer : Temperature :: Odometer ¢ |

.(A) Pressure (B) Weight L] {8 Speed (D) Distance
42. IEH FEN FA AR =) _

Find the dissimilar numbers. % "“il g s Y

(A) 9,12 (B). 15,60 ® (© 5,20 (D) 10,15

43. @%mmaﬂmﬁmmﬁﬁmmmﬁm%mwﬁ@m@mmmmm%|
RO SASE-FIE (FIE-TF) FTAFLFMLE?
(A) TEeE (AEE) ;. (B) fautaety (BrRutEET)
(€) aft (wmseen) 4% (D) el ()

~ A cylinder is intersected by a plane inclined at@ angle of 60 degrees to its axis. What is the shape of the

resulting cross-section ? ,,]
(A) Parabola ;’:L _(B) Hyperbola
(C) Spiral W' (D) Ellipse

44, e 3, ot s o ot 43 ¥ v g, e, 3 oft gead | e, frw e e 8140,
aﬂt%ﬁg%aﬁa%m%lqa?@%‘mﬁa% s, v A A i 2 A A A AR
A) = - ® e "‘(C) oy e
In a conference, five participants are seated m(va) row: Alan, Bob, Chris, David and Edward. Alan is not
next to Chris. Bob is seated between Alan and David. Alan sits on one end. David is not next to Edward.

Who is seated in the middle ? _ s
(A) Bob (B) David - (C) Alan (D) Chris
45. szwﬁﬂmn@ﬁmﬁmﬁﬁmﬁwm{%? % 0
What is the probabﬂlty of drawmganace ﬁ'omg.giack of 52 cards ? 5 r'?’vi h,ﬁ‘;" s -5“-;9:7 (100
a ] i
2 At * -
@ S , | o ® 5 3
1 | | | [:] 3 ;1’
© = @ O = -
52 13
| g 1 A s e o R W b A ORI T
BXVios = teET (gjgehfzfl it
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: [ 45 Y
B3 ; ' . 2} i b 18
46. i ofEen ¥ el TFR AW AR , . '
Find the next figure in the given series. - '
A sjen : '
Given series :

ek

47. e ¥ faum @sie) # g i |
Find the odd one out in the series.
Al, C9, E25, G49, 189

i
(A) C9 ®) 189 (©) %s (D) G49

48. e wfeen ¥ ﬁﬁmﬂﬂm%maﬁrmé&% a@waﬁaﬁmﬁawﬂumﬁ%m
m%mmmmmwm%m%l"ﬁﬁmﬁmw%? LA
(A) 4599 B) j6rd
(©) 637¥ (D) S@H

A lady said, “If you reverse my age digits, you’ll get my<fiisband’s age. He is older and the difference
between their ages is one-eleventh of their sum.” What is tf man’s age ? ;

&) Pt . (® 36years is
(C) 63 years (D) 54 years ' | ;i

49. a@ﬁrl@ﬁfﬁaﬂﬁﬁn%wﬁm%lmﬂﬁzﬁrwwgmm@ﬁrm wﬁmﬁa%lﬂzﬁaﬂm
ST A 36 I ATHRT T =1 AT R TV 36 T e v =nfee |- -

Figure I is related to II in a certain pattern. Following the s@e pattern, figure III is related to I'V. Study the
pattern and select the answer figure which should be place(;@ place of IV. !

B A O

P e K %,
e B> 5l 9@ ke |
RS q D @
I I I vV <]
e Ny oy SHCIRERY ) y
. Answer figures :
a ! a a K
(A) ® (B) @ © K (D) )
A K O d
éﬁzgg """""""""""""""""""""" PR .
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50.

51.

52.

above ()

Freferfer St et 1 e T AR |

Determine the number of triangles in the following figure.

¢ 6
o
L7
A) 13 (B) 16 © 7 D 9
e el # @ fawm (3sie) =1 3 Al
(A) T 3 (B) T - O © T, D) 7 7
Find the odd one from the given alternatives. Y
(A) March (B) June <] (C) July (D) May
= o e fert ot ez i 10 |
Study the figures given below : D
!

==

‘?

<A1 Ry e it & e forr e it 3w frg e e 1 st vt 3 R werd 3 v

From the figures given below, choose the figur¢ that will be most suitable to continue the pattern given

—

3

2

| e L3 11 1 E}V \
AV . (B) I <] ©) Il D) I
sire # I ST 1 HHT | '

Find the next um;:_gr in ‘Eg_e series.
- Lo
145, 155, 175, 205, 245, ? A _ :
(A) 285 (B) 295 42 (C) 300 D) 290
ST srrpferdi 7 |, I 3 SATHfer I g S T e F T U TETE (I) ST & |
Out of the given figures, find the 3 fi igures that w form a square, when fitted together.

RN ey

) II,III,‘IV‘ YhEae T @) b el i
e e Page 9 of 24 ' :
" 0 £ \_.\
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PPl v 7
’ ¥

A4
p
s5. A, CHIAE, CIRQuE Z, Qi einp, zwaw ? | Fffaa T P FA TH 2 ?
7. (&) PAFTIER) (B) PefrtAﬁmé@hm%c
"7 (© csrpsE) . (D) QAFAMEI
L --'53, A is the son of C; C and Q are sisters; Z is the mother of Q and P is the son of Z Whlch of the following
" statements is true ? -
ﬂ* (A) P is the maternal uncle of A. (B) P and A are cousins.
(C) Cand P are sisters. (D) Q is the maternal grandfather of A
56. W YIsG &1 T @ S W W W R )
(A) e (B) W ) = (D) T@m
Find the word that does not belong to the set. () %
(A) Lead- (B) Copper (€) Tin _: (D) Steel. =
57. st Rrem 3 3w wewdt 3 w3 forg wrt g Ao
a. A3V 28TAFATI
b. R N T ST A | [
c.  TW-UIW 60% I h W et At o Wi et o
d. 3TELH 50T WA 25 30 |
e. IRFRLTTFTWPGHIR, Aumeratmd 1 SIS ST 1R |
f R oeiear % v F o T, Ay A & fifter it ST R |
g ﬁmmmﬁmmwmﬁﬁwm%?ﬁmﬁa%ﬁ%mﬁﬁﬁwm

®
ﬁaﬁf@amﬁ%mmmﬁwﬂ:ﬁmﬁ%}mmﬁww?
el W : 68% 31 F W MCA | 3117 30 ¥ { o #mﬁzsaﬁwm@almﬁmmm

)
(A) mﬁaﬂﬁumm%mﬁ@mg

PSRN S1 O SR U P
(C) TTAEWR _ : f 9
(D) Ieftear =T T8 fRr s @ oot o g

Consider the conditions for selecting faculty membe@]m a computer education cenh{
a  Age between?23 -
: ge between 23 to 28 years.

Work experience or programming eiperienca.@ :

Postgraduate degree in computer application with at least 60% marks.
Minimum of 25 marks in the interview out of Sl Yo

If the candidate does not have PG, the case is jo\be referred to the senior faculty member.

If the candidate does not have work experience; hgfe case is to be referred to Principal of the institute.

If the candidate satisfies all other quallﬁcatio xcept the age limit, the case is to be referred to the
Director of the Centre. '

Which course of action should be taken for Babli ‘S%r based on the following information ?

R s loRn. 0L O

Babli Sarkar.: MCA with 68% marks. Age 30 yeaf 2.5 years of experience as a programmer. Obtained

40 marks in the interview. ! e X4—

(A) Candidate is to be selected as a junior faculty lﬁmber \ 5 M 2

(B) Caseis to be referred to the Dlrect-ar of the Cegiye % L i c :

(C) Data is inadequate > C. . Sl

(D) Candidate is not to be selected ' L3 i > i:i il
A R . A TU'PagelOof2d 9/; sl

- e 318
AN
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58.

-§9,

62.

9T BIA-V-BI] T I1d Hifow el 54 4, 6, 8, 10 3T 12 F fywwiierg R smar 2, & wft Rufyat # 3 9w
qEATR | :
Find the least number which when divided by 4, 6, 8, 10 and 12 leaves the remainder 3 in all cases.

(A 132 (B) 123 (C) 117 (D) 120

TF @, 60% Hfew 30 af & wifow g FH ¥ oft T & 75% e ¥ o dw ufeemd € | Al
30 o & 31fre 3T & 135 TV Afiren €, At @ § Al Y o we et € 2

In a factory, 60% of the workers are above 30 ye: d of these 75% are males and the rest are females. If
there are 135 male workers above 30 years, the totallnumber of workers in the factory is
(A) 200 B) 300 B¢y 150 (D) 180

T A s FiHa | 20% 6t i o Afe w54 1§ lﬂlﬂawﬁm@ﬂﬁﬁmaﬂwﬁ% GIEEEIS IGES TG
g ® .

A 20% reduction in the price of an apple enables a man to buy 10 apples more for T 54. Then what is the
reduced price of apples per dozen ?

(A) T1296 (B) T14.32 (C) T14.48 (D) T10.80

o e, g SACTT 1 3 - 5 3 i o e e & S ek frema 3 57 6 - 1 3 s 3 e st
31 2t et 1w o @ b argra A Premar s e s 7w o i g st 1 1%
I H & ? | '

In a glass, milk and water are mixed in the ratio of:3 : 5 and in another glass they are mixed in the ratio of
6 : 1. In what ratio should the contents of the !ﬁ glasses be mixed together so that the new mixture

contains milk and water in the ratioof 1 : 1 7

@A) 8:3 (B) 20:7 ®@c) 25:9 (D) 27:4 i wlc® S9
72 i T ST 60@%%1{@%«%1% SIEBITNCER I ER i
The cost price of 72 books is equal to the selling p@e of 60 books. What is the gain percent ? I/g A~
(A) 165% (B) 20% ©) si% (D) 18% 5 o

AR IR 50 F 60 1 S E GleT ST & 3 60 #F 50 A A =T ], A AW AR FTE?
If bananas are bought at the rate of 60 for ¥ 509and sold at the rate of 50 for T 60, what is the profit

l?

(A) 42% (B) 66% '40) 48% . (D) 4%
64. 12, 18,20, 25 T AgaH GHTIA™ (LCM) a0 AR © o tfee  Jawm
Find the LCM of 12, 18, 20, 25. 3 S
(A) 880 (B) 860 ®XC) 920 _ (D) 900 .
65. A TReTHRl A1 QU i B o g i 50% SHfire S S | AR & v T A g R 6 27 RIS g,
A B et 1 gaH faha=n g i 2 @ -
(A) 357 B) 30 (C) 45 ®) 40f=
A takes 50% more time to complete a work than B. If together they take 27 days to complete the work,
how much time shall B take to do it alone ? :
(A) 35days (B) 30 days (C) 45 days (D) 40 days
T B e R T T 7 R e T
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66.

67.

69.

BXV-24. - " Page 12 of 24 ©

g% g S A TR |

A s 1 : 1 ; : : E
“In a partnership, X invests gth of the capital for gth of the time, Y invests -;ﬁ,' of the capital for %rd time

P ——————————pe e LR et ottt e T T T S —

A o Tt o it 120 ot 8 a wwaT 1 B, A ¥ 60% 3ok T § | o 3¢ft i A h fore B sy
fFfmame ' -
(A) sof= ®) 75f= . (© 70f= (D) 10f&=

A can do a certain job in 120 days. B is 60% more efficient than A. To do the same job B alone would take
how many days ? '
(A) 80 days (B) - 75 days (C) 70 days (D) 10days

o =fth 600 Freft ot 8t 7 7 80 feeft/e it = &, 800 faet gaiTé oI g1 400 Frel/eR i e & 3k
wommsﬁa—dzmso%ﬁrfd%aﬁrm%mm%lmiﬁzﬁ%m@%ww% ?

(A) 130 gﬁrmfaa (B) es%ﬁ:ﬁm © e2fwfdn (D) 60% Rpeft/erar

10
2
A person travels 600 km by truck at 80 km/h, 800 km by aerop_!ane atglrl)o km/hr and 100 km by
motorcycle at 50 km/h. What is the average speed for the entire distance ? {j?
(A) l'ér'l?lm km/hr (B) ﬁsi km/hr (C) 62 km/hr ) 150i km/hr

23 123 13
qaetrl%m%25,2203%%?&%aﬁtaﬁmﬁaﬂtaﬁ?aﬁmmm%&ﬁﬁﬂ&mﬁéﬁ% | afE Tshafe
ST 1 T 5% 2, A Tl fofet 1 e e hifre | : ® '
A woman borrowed T 25,220 and she returned the money in three equal instalments after one, two and
three years. If the rate of compound interest is 5%, then find the value of each instalment.
(A) T8000 (B) ¥8,261 (C) 9,261 (D) 9,000

T THRAAR T H % 3iferd T00 T 10% gz 31 ¥ | af 3 1 577 T 3,600 %Eﬁﬂﬁﬁfﬂ?ﬂ"ﬂlﬁ
T AT THIRT 10% 2 33 3 18 20% T @1 A00q FLEH | ') :

A shopkeeper allows a discount of 10% on the marked price of a camera. If h¢ cost price of the camera is

' ' T 3,600, find the marked price so that shopkeeper can eam a profit of 20%, afi¢t allowing 10% discount.
' (A) T3.,650 (B) 4,800 (C) 5,700 ) €4,750

A, B 3R C 3 0 HIant 3wy f3pam it soern Fidrer o1 5 1 4 2 3 97 | 4 W F A, B T 1,000 AR
e oo 31 8 Wt 3 a1, € 2 2,000 Afifees Frdver Fe | af o o 3 ot gt o 152 145 11 9
F yrema & ¢ 71 fdm g iR | ' o <.

A,-B and C entered into a partnership, and their investment ratio was 5 : 4 :@M‘ter 4 months, B invested
¥ 1,000 more and after 8 months, C invested % 2,000 more. At the end of one year, if the profit ratio was
15 14 : 11, then find the investment of C at the beginning.

(A) T6,000 (B) 3,000 (C) %7,500 (D) %4,500

@F@Eﬁﬁ,xﬁxﬁméﬁm%m%mﬁﬂmm%ﬂ Lt L o o rm w2 sfe Z

afe ad & i o siffq v T 23,%}()0 %,%TY TR 7

" and Z invests the remaining capital for the whole time. If at the end of] E}a year the profit earned is

¥ 23,000, then what will be Y’s share ? ®
(A) 5000 . (B) 5500 (C) 4,000 QD) 6,000

-
-
o
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73.

74. .

75.

76.

.

78.

79.

" f'?;. 4
S ~ {2 514
IR a, b, ¢, d; e ST FATTE frem wemd & d S A TR 0 : : e
If a, b, c,d,e are five consecutive odd numbers, then their average is
By B) 6a+4) © a+4 (D) Ya+b+c+d+e)

TR S T 3,000 i Ty 3 391 # % 6,000 B S R | A AR 3 forw sur v @ 2

A sum of ¥ 3,000 amounts to ¥ 6,000 in two years at compound interest. The interest for four years is
(A) T12,000 (B) 9,000 (C) T3,000 (D) 6,000

T%aﬁﬁm@qt 12% 1 g2 3 F G, TF THHAR 21% 1 1 Afofd T 8 | 7fa 98 78 gz i 2ar g,
e fapamT e fsfa wam 2 _

After giving a discount of 12% on the marli%pricc of a book, a shopkeeper earns a profit of 21%. If he
doesn’t give this discount, then how much p<]1t would he eam 7 :

(A) 25% (B) 40% (©) 31.5% (D) 37.5%

mﬁ@nﬁﬁﬁ,@ﬁmaﬁgﬂﬁaﬂwﬂaﬁ%’rﬁr@% | it <feit st a o 44 3, 7 e wg wE
TR? -

Of the three numbers, the second is twice th€first and thrice the third. If the average of the three numbers .
is 44, the largest number is - : []
(A) 72 (B) 24 “‘) (C) 108 (D) 36

7 R I 2025 %ﬁaﬁwﬁ,agaﬂwm%agmlz: 131412 : 15 % 39 5 g9 A Ik Th

7m fepsror e S 3 fore feerlt s o arelt firemg s <t srravaeRdT @ 2 | &l
(A) 162 (B) 160 @it (C) 150 wX (D) 156 &fteX 932

In a 2025 litre mixture of milk and water, the ratio of milk to water is 12 : 13. To get a new mixture
containing milk and water in the ratio of 12 {15, the amount of water to be added is |

(&) 162 litres ®) 160lies ()  (O) 150litres " (D) 156 lifres *
ﬁﬂﬁlﬂﬁﬁﬁﬁ?ﬁﬁ?ﬁﬂﬁﬁﬂﬂﬁlﬂﬂ%ﬁﬂt{mPWISHMENT%H&ﬁHW’TW?ﬁW

ST HehdT | ' . v
Determine which of the provided words%aunot be formed using the letters of the given word

PUNISHMENT. @ : g

(A) PAIN (B) PENT ), 5 (C) SENT (D) PUSH - e e

W I - /<] R -
it sfie: W% Q) : & _ | :

(A) wrft (B). 4T e ©) (D) Yt

Complete the analogy :

Engineer : Blueprint : : Chef : S
(A) Ingredients (B) Menu {} (C) Kitchen (D) Recipe i
4uﬁmﬁﬁaﬁr@mﬁ,mﬂrmsﬁaﬁa@§m%aﬂt15%nﬁmﬁm%,wi§sﬁaﬁmqﬁlwﬁmw%
%mﬁmﬁfﬁmﬁmﬁmm‘sﬁaﬁaﬁ,@ﬁﬁ?ﬂ%lmﬁaﬂﬁﬁmmaﬁﬁqﬁﬁﬁﬁnﬁm
S Sl forgrer Gt =1 4 | VT

In a class of 40 students, 20 have chosen onl{f}ﬁiology and 15 have chosen Mathematics, but not Biology.

' Given that every student has chosen either ematics, or Biology, or both_. Find the number of students

who chose both Mathematics and Biology. ®
(A) 15 ik (B) 20
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81.

82.

¢y L}J}
L
f e HTERE H W e 3 A | *
Find the missing number in the given analogy.
25:625::35: ‘J:‘F'
(A) 865 (B) 825 (10 1225 (D) 1115

ggwaﬁw‘@ﬁ#mﬁgmgam%ﬁmzs R e o o, e o o feam 3 e vk
2

A) g ®) ™ [3«:) T (D) wfim

What direction are you facing at the moment, if youlitart by facing south-east and turn around 225 degrees
anti-clockwise ?

: #
.. (A) South-cast (B) East \_"10) North-east (D) West
(8)
ST HELFTEN?
What will ge; thﬁnext letter ?
gl:H s _
(A) P et o (8 O {E(C)R @ Q

85-'

86.

87.

aﬁ'ﬁmmsﬁtﬁ{q@wﬁg%mﬁmml ()

Find out the alternative which will replace the questl n mark.

12:26::7:24
A) 12 ®) 8 ch) 9 D)6,
AT s 7 ST ST W 1 A | ®
Find the nq;nt lefter ¢ yste_{,m the given series. <]
DA, HE, NK, _ S|
(A) BY (B) cY (C) AY D) XY

Pt & & -81 A Fefer, weft S g 3 ot 3 iy ) o =S ST A AR 2
Which of the following diagrams best illustrates the relationship between Pigeon, Bird and Dog ?

@ ' (B) @ %@ (D}@O

ﬁqﬁiﬁaﬁ%ﬂq—msﬁamﬂw%?

(A) foeslt - =% (B) FuT - sftw
Which of the following pairs is different from the
(A) Cat — Meow (B) Dog — Bark
mq:ﬂmrmwﬁmﬁhﬁﬁm@hm m%—a
27 © :
(A) TR (B) Uy (C) W@ | (D) A

C) Cow - Bleat - (D) Lion — Roar
cwrery 3 fota et i Rt wreg @ = o

- “The company’s decision to downsize was prudent.” What does the word “prudent” imply about the

company’s decision to downsize ? _
(A) Wise (B) Reckless © Careless (D) Hasty

________ ;__,_,__________.__._______-__..---_------.--..___..-..----..---..__---_-------_---_.._..---"
: ; ! . Page 14 of 24 '
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L}
|

88. PaﬁtQ s%aﬁ%rpmﬁmﬁq%‘? £
T T T I A o forg e (1) 3R (2)&@@1%1/&3113%%}% ?
() RPHERIATH IR
@ U, Q#iwiz| . 1
(A) F9(2) - B) FE() ©) ()@, (D) AAM (1) (2)
P and Q are children of S. Who is the father of P ?
To answer this question which of the statements (1) and (2) is/are necessary ?
(1) Ris the brother of P and the son of T.
(2) U is the mother of Q. {} ;
(A) Only (2) (B) Only (1) (C) (and(2)both (D) Either (1) or (2)
89. ﬁﬁwsﬁﬁ?ﬁﬁtaﬁtaﬁraﬁmwaﬁaﬁtﬁﬁﬁz rer ot i aEd ove A aEeR ¥ A, A
(ERLESE LEISRERSIPED am ?
E@m ' v;-‘.\f%lxlgpﬂ T MmUSVak
II. FLNESAGOMI |:|
III. EXSONHTIAU ®)
(A) Al (B) mﬁ I, I1, 111 © é‘ﬁaa 11, 11T (D) m I -
After exchanging the 3 and 6™ letters and the 4‘(111(1 9" letters, as well as the 5% and 10® letters in the
given words, which series would result in a mean@ful word after this rearrangement ? :
. HRETIAGVSN
II. FLNESAGOMI
M. EXSONHTIAU : 4}
(A) OnlyIl (B) AILILII O(C) Only II, 11T (D) Only III
90. TS HeT HEwr H STl WA i I | 4
Find the next number “#he given number series.
126, 112, 98,84, 70, o
(A) 63 ®) 53 [Jo 56 (D) 64
o1. ﬁqmwﬁtﬁﬁ&aﬁﬁqaﬂtﬁuhenﬁq%a@}-wﬁwm%% |
R RS A N e s TR .
fad
1. ﬁaﬁn’maﬁwaﬁtﬁm@ﬁwwaﬂﬁ\%% |
2. FMATHICHE
(A) Faafrerd2amrs (B) Faa fremd 19T d
©) Fdrfend | sitadizamr? (D) 3N fasrd A= §
Read the Statement and Conclusions given and de%’ which of the statement(s) is/are valid.
Statement : An apple is good for an individual’s h '
Conclusions :
1.. Apples are a good way to keep someone hea@y and fit.
2. Grapes are better than apples.
(A) Only Conclusion 2 is valid , ©(B) Only Conclusion 1 is valid
(C) Neither Conclusion I nor 2 is valid ' <*kD) Both the Conclusions are valid
92 afe # ward o B, 35 TR ® XS
If ‘# stands for ‘X, whatis 3#5 ? '
A -2 B) 15 © 2 (D) 8 2
fﬁf\}'i&'""“"‘""""""""""""'"'p'a'gé'fs'fafz4 """""""""""""""""""" 35
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94,

95.

96.
97.

98.

100.

101.

102.

103.

(A) 200 (B) 100 @) 400 (D) 300
T A ¥ - § R w1 e i A
(A) = (B) & & = (D) e
F el SR AR E " T ATHA TR PR ? k<
(A) & ®) # © ¥ D) ¥
T FRE R iR 0 '{3’ e N
(A) TeTa RrEard) (B) e ":4 g B2,
© FTHARFRE @) mwmHEwet
FTAR F AH TR TR 2 ey .
(A) T (B) eI [@) o . (D) formm
Frefafe & & o ¥ e S 9w fifv ®
(A) Tt G # S dT W@ | (B) e dmEn e s |
(€) Tt Hivaw i e s | T URERELEIEIS SET ]
Prefrfa ot d o @d s
(A) WiST B2 TG TG Toe & A2 8 et |
(B) T <¥H T 3 e BT B | L
(©) wFH IR S eamursstsl (O
(D) Wﬁﬁﬂl@ﬁﬁﬁ@!ﬂ?ﬁﬁﬁﬁmwﬁl
fefafaa i @ Frm g amms &
(A) =1 | (B) 3W . E(%) g (D) IS
spferem o2 o i et areh et i S Y -
(A) h-for ., ®) FE-F ,gj) oo — fRm (D) firemar — 387
R H A R €
(A) T B) 3w 't%) it (D) 3TE
""" 24 W TR TP learah L R e T
i «

AR a~b=a+b,arb=b+ad, (3 ~6) A2 TAHRRT i ¢

If a~b=a?+b,a’"b= b2+a, find(3~6)"2.
(A) 23 (B) 21

©) 18 (D) 19

af s 10 Feef g ot s 8, e 90 Rt g v g3 & o 6 P sft = &, v i g

Haig & anueht sifow Rufa a2
(Aa) 11.6 et mfis fig @
(©) 9.6t i fig

(B) 10 Frlt mfirr feig @
(D) 6 forelt rifires i &

What is your final position in relation to your starting point if you have walked 10 km South, theﬁ turns

90 degrees to the left and walked another 6 km ?
(A) 11.6 km from starting point
(C) 9.6 km from starting point

4B) 10 km from starting point
(1) 6 km from starting point

o W H, 60% w3 e A F 30t 40% %ﬁr:afq-n Tz AR | ARt 500 e &, 4

i A farshe A wwE fRar 2

In a survey, 60% of people preferred Option A and< &)% preferred Option B. If there were a total of 5(
respondents, how many of them preferred Option A7
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w. @, 1053 109 Tenivt 94 - CH .
ot o1 I STAMT 2, W W UE 78 St sttt T 7 3G 9 9T § | 3 oft X g & A B
ST gt S gt T ey ot Erehr o € S s v e A ot e # et g e fiet foR et foer o TR
Frerrer &1 e fiet | s e & svar ameR se9 2 ot 3 72 & St % wry wh-OE FUS WA
W%,mﬂﬁqmmﬁﬁwwaﬁt#ﬁwﬂéﬂw,mm 79 sferera w1 oft 2fta ot e
FITT AT fo T 2 0 gt ot oo ForarT R, et 3T 8 F o g A i s € | 7w oft o6, svma i
T A 3 TR T T Tel Fa il AT I T o] 21T |

105. TR ¥ e ‘S T e ¥ 2 ® |
@ = B) & ¢ = (D) et
106. TTeriyr & geaiey Sfeeai ot ; ®
(A) TRTHITER : (B) farchise ™|
(C) ITEAHTER (D) FRATEL
© 107, T H T AL BATR ? ' :
(A) FHEH (B) @ ) frpae: (D) AfFEs
108. TR T ST ST T T 2 ey
(a) Fr ®) =i, 4p) s (D) f=i@T™
109. SEIFTFHE: 1 ; ' -
(A) SR (B) THT ) T (D) Faw
110.  fopar-forsieor 3 Wbt 37 39 ameeor w1 Frefoiftea T3 t-ar gm vt 78 2 2
(A) THEEES R -4 - ) Frereae forn-fsor - v
(C) gferaTas faran-fashaor — gax g) Ruferaeres frn-frdaor — = 7 i
11, SFEFEEIE? :
(A) W& (B) HM (C) 3T (D) faem
112. 3D 3 3fiear Frad g '
(A) |FT R FAT ' (B) T tcaun
(©) THAR g} Tt orerT T i EerT
183, frefafea § oo 2 : '
(A) W™ Y (B) IR @b (D) E
114, 2013 % Frea 79 (FTEM)’ % forg wnfec srredt fordt feamr mram 2 .
(A) BmERNE  (B) FE@Emae - L©) wewfe, . (D) g
115, P dsar i e EEmee ©. | SVERE
@) = ®) = OR © = W
116, ‘qd % wee & forq ofee srehmertt qoen fove e At R 2. 0 o d
(A) =nyFmRET  (B) wEAREW (€) T (D) Tifer foam -2
117, e wedi o & v &1 o7 ol € : -
(A) Sy : (B) A= (C) M - (D) AFE .
118, “HETT wieg w1 wiferT FT 8 2 -
_® ¥ ®) et (C) wEran (D), WeRL it S
BXV it - G e 1T of 2 b o . Sooradibes
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|

119,

120.

121.

122,

123.

124,

128.

126.

127.

128.

129.
130.

132.

w‘@m%w%

(B) g da

(D) FHURT
(D) s fug

(D) <fht : o

(D) I FA AR
®) Fw

D) FwET i

(©) T

(D) 37
(b) SELERE D

() wghfs

(a) Y B fer j
(C) - Afreferor -(D) SR SR
“frafeC o -1 THE R 9 _ .
(A) e ®) far (C) =R
Frafafaa i@ (2) R 2
(A) t{gﬁ%m (B) arex fam K(C) gﬁﬁl | .
mﬁr%mmmﬁﬂawﬁaﬁﬁqwﬁlﬁmﬁa%aﬁ&m. T
(A) doE (B) w&H <](C) L
‘Eﬁﬁ#tﬂ@hﬁﬂfﬁﬁ@n; : o &
(A) TR (B) frafy D(C)
R TIC F ERaTe ; (E:j) e
(A) WiE THA B) frem < © ?maa
e =1 fasm 2 : ®)
(A) Ta (B) 39 (C) I
ey BTN FEETaT 82 | .
(A) TEEFE  (B) ‘I?f‘ifﬁﬁlﬂ JL}(?) | STt %
e i e o R o 2 O :
(A) HEd (B) <= <I(C) TEd
fo w1 arerier & fore e e B0 ,{} |
ST =gl T ST g’ : ]
(A) I (B) ¥R ®©) T
s, e, Qe Sl v 2 <]
(A) e e (B) T fra I_.@).(C) T e
I § HH-AT R ? it AR
. (A) T ®) fag ©) FurE
3 " - . : %
T THeR T AT T[ETa il 3fra 37 sIaTey 4 ‘
‘ : A TR w0 WIS SSHT
(A) STSRTEW e ¥ 22}; i
©(C) FETRGIEIFAT 5 |
ST o AT T3ferdl & T T R E](B) e
" i i
. w0 dmawmd
: (C)@WP%}“M """
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133, RO, - o g o 2t v &, 9 ot e 1 g | v e e A g e i 8
@%aﬁaaﬁaﬁmm%mﬂﬁwmaﬁml

(A) T ~ (B) @ L O @ (D) %
In the given question, there are two words to thé/left of the sign :: which are connected in some way. The
same relationship obtains between the third woﬁ‘d and one of the four alternatives under it. Find the correct

alternative. <]
Sugar ; Sweet :: Lemon : ? ; ; _
(A) Yellow . (B) Sour - (C) Juice (D) Fruit 13
134, T FRE , 30% T AR § | 60% TG FHAHT ST 40% T6¥ F foanfea ¥ | wmater # .
FAfafed FASIET ST Wi T S 9
‘In an office, 30% of the staff is female, 60% of the female staff and 40% of the male staff are married. The
percenfage of the unmarried staff in the office 1@) : o - ™M
(A) 46% - (B) 48% ©) 52% (D) 54% i to
135, Freferas o & FH-a1 e ad T} 2 | ey S
Which among the following is not a leap year 29 : : -
(A) 2004 (B) 2020 O (© 2024 (D) 2014
136, S AR I & 2 S R, aﬁnaﬁgﬂhﬂgﬂﬁlsmkﬂw%taﬁmmaﬁt -
e 3 st o gt e R T T R R0 35 s
(A) 44fre (B) 35fme ©) 45fime (D) 48 i
Walking %ﬂl of her normal speed, Athira is 15{Si inutes late in reaching her office. What is the usual time
taken by her to cover the distance between her home and office ? :
(A) 44 minutes (B) 3Sminutes @ (C) 45 minutes (D) 48 minutes
137, Tl siaer 3 x S y F19H o il ; - LW o )
Find the value of x and y in the following series : . ;4 | 1 =
\ U4;R8,016,x,164,F128, y L - }%F
(A) K24,D345 (B) L32 56 ©) G32, E256 - (D) M32,B345 :-z«%"‘\'

13, 7R DEEP ) 30, smafrzs%mﬁan‘rgq%mm% H’fRTVERE?fﬁ?HHIﬁ#%HﬁFQT g2z
ST ?

If DEEP is coded as 30, SEA as 25, then RIVER il be coded as : - SR 5 5
A 15 o5 (B) 20 ® ©) 72 D) 56 Y
19, s e AR NN o
J
Find the dissimilar term.
3X5, 4U3, 2R4, 302, IM3. @ e
(A) 302 (B) 4U3 (C) 2R4 - (D) 1M3
0. sy v s iR | '
Find the dissimilar number. _ |
1,3, 12, 60, 340. e
(A) 340 ®) 12 © 3 . (D) 60
TV R e TR R e T X e e 5
—_— = \


https://v3.camscanner.com/user/download

141.

143!

i =

T T A T SAeh I 3l A g 5t T e & 3 90 ﬁsﬁammﬁaﬁteu%;m 180 fesft ammy
TS ? | 37 39 =afen w1 Hg Frw R ai g 2

@A) @ (B) (C) IW (D) fzm

A person performing yoga starts facing North and then turns 90 degrees counterclockwise fnllnwed b
another 180 degrees counterclockwise. What direction is the person facing now ?

(A) East (B) South (C) North (D) West
142, SC-afEm feam it 3 e arern safts 7w snat o e R i e @ 2 :
(A) Swufam (B) afam-g@ (C) - (D) =furafim :
A person walking towards North-West directioq sees his left hand in which direction ? : »
(A) North-West (B) South-East {3  (C) North-East (D) SDuth—West Tk
5 1} L

Y9, 72, 243, 576, i Hif) ] ¢ st .,,.A{’

: G) : - *5
Complete the series 9, 72, 243, 576, . : _
(A) 1125 (B) 1250 d (C) 998 (D) 876 |

144,

147.

R ASB HF IR A, BH @I e; ‘A # B@rw—i% ‘A, BHIuT’; ‘A x B’ FTal B ‘A',Bﬁa?ﬁ%'ﬁi
WHXxVSURW, USSR aafad ?

(A) (B) =T ©) =t (D) &

If ‘A S B’ means ‘A is the father of B’; ‘A # B’ means ‘A is the mother of B’; ‘A x B’ means ‘A is th
sister of B, then how is W related to U in WX x V$ U ? 2

(A) Grandmother (B) Grandfather ()  (C) Mother (D) Mother-in-law

. o R P, 43 H1 3 “which sgggr*%ﬁt%smw“c_o_llgge and school” ¥ m@aafaqﬁgw

29
In a certain code, 48 means “which school’ Eld 968 means “college and school”. What is the code fc
school 7 ®

-

(A 4 (B) 8 q ©s | @) 9

1. X#vifmemefedx, yHraig) ® A ai R

2. YSZzifmwmiefry, ZzorwEd) % 9,

3. Z*AffmEaefFz, AfaAhR) > D \J’.,. Z

A R TfEr T e 2 2 :
SR AL ® X il Sk iz _ ®) Y

1. X #Y indicates X is the mother of Y, O
2. Y$Zindicates Y is the brother of Z. <]

3. Z*Aindicates Z is the daughter 6 A. o ' L
Then who is the father of the family ? : ] i U;
(A A - (B) X C® © Z D) Y _

ﬁq%f@amﬁtaﬁmﬁ'S'iﬁK%aﬁ%ﬁaﬂTK%mwmﬁ%? 7] [

* How many ‘S’ are there in the following sm@hat come immediately before K and immediately after K

SSKSKSRKSPOKSKSKS
A) 3 B) 4 © 2 D) 5 )
pxvaas | L R T T R i b R
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148.

149,

-
~——

e TR TS BT I AR | mmmmmﬁmm%*ﬁ'ﬁmmmw

ﬁrmgm%mﬁ??mﬁﬁﬁ:rm )
TEAR TN : ; >3
. . 625

\w
3

af2 et 2ht T Tare JT 3 fere To e 40,200 2, 2 57 T 25 SR W FoT @ 3T 2 =
(A) ¥21,000.- (B) %20,100 o (€) €22,800 (D) 22,500 A —-%"Tg/
The following i)ié-chart shows the percentag!distribution of the expenditure incurred in publishing a, .

hook. Study the pie-chart and the answer the qifestion based on it. axr

) .!‘.-—
Various Expenditures (in perc@g}zge) Incurred in Publishing a Book £ wame ¢S 30
Promotion Cost @) ) a

10% I ¢ A

Transportation Cost

Fa= /)

Binding
20%-

Papcztjom
25%

If the printing cost for a specific quantity of Ec;bks amounts

ion of these books ? Q)]
fﬁm;u;ﬁfm S (B) ¥20,100 EI (C) 22,800 _ (D) 22,500
11 geeit Fre A T FH 29 7 2, A eI ar 7 wer & | IR www -
mﬁggﬁmwmﬁm%mwﬁmwwmﬁmm%aaﬁm

%tmﬁmmwg? af C(© 2= | (D) 24 a4

A ) 22 : _
e e(:in of 11 members is 29 years old, and the wicket-keeper 1s four years older than
the captain and the wicket-keeper are excluded, the average age of the remaining
years less than the average age of the whole team. What is the average age of

to T 40,200, what will be the expenditure for

The captain of a cricket t
the captain. If the ages of
players of the team is tWO

E.Tjteg ;ears ®) 22years (C) 21 years (D) 24 years
D TR e it e G el T
24 A o 2 s
TR Co
AL



https://v3.camscanner.com/user/download

150, T A WIS-=E e witE % wie] =1 v wrd fenem zwian 8 | afe 7 fean mn & o aftaw i e At
T 32,500 B, At WIS AR A T HIH & § T ohi 78 et Wiferch TR T 2

(&) TI12200 { ®) 11,700
(©) 18,500 L] (D) 11,000

L
The pie chart f;rovidcd shows the percentage breakdown of a family’s domestic expenditure, If it is give
that the family’s total monthly income is % 32,5

, then what is the total monthly amount spent on foc
and entertainment-combined ? ®

Domestic Expenditure of a Family
4 o 3\ Provident Fufid )

House Rent

(A) T12,200 s - (®) T11,700
(C) T18,500 - (D) T 11,000
BXvoaa T N R AP of 2. D e e T
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